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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

The book was ---—-—-~— by a panel of experts, working in conjunction with the puhlishe'r.
1) revealed 2) compiled 3) intervened 4) attributed
In Canada, drug users belong to high-risk insurance ---——--- -
1) entities 2) features 3) categories 4) structures
The victim was able to give the police an --—----- -- description of her attacker.
1) accurate 2) ultimate 3) identical 4) equivalent
The government passed a law to promote the -—---—-- of blacks into white South African
society.
1) integration 2) foundation 3) coordination 4) adaptation
Small businesses often have great difficulty in ——-—-- credit from banks.
1) detecting 2) obtaining 3) pursuing 4) depositing
Feminists say that the book was written from a male ~----—-,
1) objective 2) inspection 3) perspective 4) presumption
Violence is just one of the many problems ---—-—-- in city life. '

- 1) explicit 2) empirical 3) available 4) inherent
Legal requirements state that working hours must not ———---- -- 42 hours a week.
1) assign - 2)exceed 3) utilize 4) undertake
The Highways Department is responsible for the construction and -—---—-- of bridges and
roads.
1) equipment 2) adjustment 3) manipulation 4) maintenance
Maxwell’s responsibilities -~-----— yours, so you will be-sharing some of the work.
1) overlap 2) affect 3) identify 4) coincide

PART B: Grammar

Directions: Read ﬂ:e follo ﬁrr’ng passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

Since water 1s the basis of life, (11) ---------- the greater part of the tissues of all living things, the
crucial problem of desert animals is to survive in a world (12) ---------- sources of flowing water are
rare. And since man’s inexorable necessity (13) =----=---- large quantities of water at frequent
intervals, (14) ---=-=-=-- comprehend that many creatures of the desert pass. their entire lives (15) ----
----- ‘a single drop.

1) composes 2) composing 3) it composes 4) that composing

1) which 2) that 3) there 4) where

1) 1s to absorb 2) of absorbing 3) that is to absorb 4) is absorbing

1) scarcely he can 2) he scarce can 3) he can scarcely 4) scarce can he

1) for 2) from 3) upon 4) without



.-. Part C. Reading Cumprehensi

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4). Then
mark it on your answer sheet.

PASSAGE 1:

The total footage of holes drilled each year by the petroleum industry of the
world amounts to some hundreds of millions of feet. Of the total footage
drilled, approximately one-fifth consists of wildcat wells drilled in the search
for new pools, and the other four-fifths consists of wells drilled to develop
previously discovered pools and fields. This great footage does not merely
represent holes in the ground; because of the information it discloses, it
actually represents so many feet of geologic column investigated. Over the
years this huge drilled footage forms a vast store of geologic data with which
to work; it is the chief basis for our understanding of the combination of
underground stratigraphy, structure, and geologic history that is called sub-
surface geology—to distinguish it from surface geology.

The purpose of subsurface mapping in the geology of petroleum is to
find traps that contain oil and gas pools, and, once a pool is found, to bring to
bear the geologic evidence and concepts that aid most in its efficient develop-
ment and production. The more of the geology of an area a geologist can
know, the better job he should be able to do; so every bit of evidence becomes
grist for his mill. While the information obtained from wells forms the heart
of the data upon which subsurface geology depends, other information comes
from geophysical surveys, pressure and temperature surveys, and the produc-
tion history of producing oil and gas pools. All these diverse kinds of informa-
tion fit together when correctly interpreted, and their coordination becomes
the particular job of the petroleum geologist who is searching for new pools
or extensions of known pools.

16- Of all the wells drilled annually by the petroleum industry, four out of five are drilled --—-----

1) to drill wildcat wells 2) to find new pools and fields .

3) to disclose new geologic data 4) to develop pools and fields already found
17- The data obtained from dilling constitute the basis of our knowledge about ---—-—-,

1) geologic data 2) geologic column

3) surface geology 4) underground formations

18- From the text, it can be inferred that the principal reason why man began to find and employ

methods of probing beneath the surface is because -—--—---.
1) surface mapping gives little help
2) surface geology yields vast data
3) subsurface mapping investigates traps of oil and gas
4) geologic evidence and concepts are of great importance
19- From the text, it can be understood that subsurface mapping in the geology of petroleum

attempts to locate traps that contain oil and gas pools and -
1) to obtain information from wells

2) to probe wells of oil and gas thoroughly
3) to assist efficient development and production of oil
4) to develop efficient ways for better interpretation
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20- From the text, we understand that the efficiency of a petroleum engineer’s job depends on -—-.

1) way of data collection 2) cooperation with other specialists
3) knowledge of the geology of the area 4) his ability to perform the operation
PASSAGE 2:

Drilling mud

Once regarded only as a way of bringing rock cuttings to the surface, the fluid used in
rotary drilling is now recognized as one of the major factors in the success or failure
of the drilling operation. In addition to lifting the cuttings, the drilling fluid must
perform other equally important functions for the efficient, economical, and safe
completion of the drilling operation. For these reasons, the composition of the drilling
fluid and its resulting properties have become the subject of much study and analysis.
In order to drill deeper and consequently more hazardous wells and to exploit
productive formations more fully, the drilling fluid must have physical and chemical
properties that enable it to contend with a greater variety of well conditions. The
satisfactory performance of these more complex functions requires that the
composition of the fluid be more varied and its properties subject to greater control.
As a result, the cost of maintaining an effective drilling fluid is a major drilling
expense in many areas.

The term drilling fluid includes air, gas, water, and mud. The term mud refers to a
suspension of solids in water and/or oil.

21- The drilling mud is called so because -—----—-.

1) it is a fluid 2) it speeds up drilling
3) it has correct proportion 4) solids are suspended in it
22- We know from the passage that in the past the only function of the drilling fluid was
considered to be -------—-,
1) economic drilling operations 2) bringing cuttings to the surface
3) safety of the drilling operations 4) efficient completion of the well
23- According to the passage, drilling deeper and more dangerous formations necessitates ---—--.

1) complex functions of the mud
2) varied composition of the fluid
3) suspension of solids in the mud
4) correct physical and chemical properties of the mud
24- The underlined term “contend” as used in this passage is closest in meaning to
1) crush 2) challenge 3) overcome 4) revive
25- We understand from the text that the main reason for the use of right drilling fluid is the --—--
1) sizes of the cuttings 2) cost of the drilling operations
3) variations in the conditions of the well 4) dangers encountered in deeper formations




F axio (YBY u5) caads ob;

e e i —— e

PASSAGE 3:

26-

27-

28-

29-

30-

Reservoir Rocks

A petroleum reservoir is a rock capable of containing gas, oil, or water, To be
commercially productive, it must have sufficient thickness, area extent, and pore
space to contain an appreciable volume of hydrocarbons, and it must yield the
contained fluids at a satisfactory rate when the reservoir is penetrated by a well.

Sandstones and carbonates are the most common reservoir rocks. The porosity
characteristic of a rock may be primary, such as the intergranular porosity of
sandstone, or secondary due to chemical or physical changes such as dolomitization,
solution channels, or fracturing. Porosity may be adversely affected by compaction
and cementation. The distribution of petroleum reservoirs and the trend of pore space
therein result from numerous natural processes.

In sandstones porosity is controlled primarily by sorting, that is, by mixing the
various sizes of grains, and to a lesser extent by the way the grains are packed
together. Porosity is at a maximum when grains are spherical and all one size but
becomes progressively less as the grains are more angular because such grains pack
together more closely. The close packing has a porosity of only about 26 percent
because the grains are packed into a smaller space. Artificially-mixed clean sand has
measured porosities of about 43 percent. |

Paragraph one mainly disscusses

1) the properties of a potential reservoir 2) the rate of production in reservoirs

3) the physical characteristics of reservoirs 4) the penetration of a reservoir by a well
We know from paragraph two that compaction -= porosity.

1) increases 2) decreases 3) stabilizes 4) assists

We understand from the passage that ~---—-—-- have the maximum porosity.

1) sandstones 2) grains 3) dolomites 4) reservoir rocks
According to the passage, “angular grains” have —--—---- than spherical ones.

1) greater porosity than 2) less porosity than

3) the same amount of porosity 4) a fixed quantity of porosity

According to the text, “close packing” is the result of using —----—.

1) clean sands 2) sandstones 3) angular grains 4) spherical grains
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